Problems

Problem B.1 Compute the indefinite integrals:
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Problem B.2 Compute the indefinite integral | ——— =
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Problem B.3 Compute the indefinite integrals:
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Problem B.4 Use substitution to compute the indefinite integral
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Problem B.5 Compute the integral / el ~tdt.

Problem B.6 Compute the integral when a, b are constants with a £ 0:
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Problem B.7 Compute the indefinite integrals:
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Problem B.8 Compute the indefinite integrals:

a) /tetz dt b) /1‘3et2 dt c) /e‘/?dt
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Problem B.9 Use polynomial division to compute the integral:
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Problem B.10 Compute the indefinite integrals:
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